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Addal247)
NCL -Written test for the Post of Technician Fitter (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020, SET A
Section A (Question no. 1 to 70)
1. | Type of reamer used for reaming operation in blind | SRS BId H URTSSUN Uichar # ITANT fhT oA aTat
hole? URfSE® BT UBR T 37
A) Straight fluted reamer A) Tyt Areiiged uRfegs
B) Left hand spiral fluted reamer B) 1Y §TY I AfUd Areigad URfeSG®H
C) Right hand spiral fluted reamer C) TIfen 814 &1 Iftfa regad uRfess
D) None of the above D) SWRIgd # § PIs Tal
2. | Which of the following is an artificial abrasive? FafRed & ¥ &F 91 T $HH SUuvs §?
A) Aluminium oxide B) Emery A) TegHIaT Hiqrss B) [ URR
C) Diamond D) Corundum Q) BRI D) BRSH
3. | At room temperature, plain carbon steel contains: AT dYH U, dial P EXCIG) H gfefera giar
A) Ferrite and cementite g 1
B) Ferrite and pearlite A) R8T 3R HHerge
C) Pearlite and cementite B) BRI3C 3R yaifge
D) Ferrite, pearlite and cementite ) Udige 3R Herse
D) TR13e, Tdige 3R WHerse
4. | Dressing of grinding wheel refers to: Y07 Ih D1 SRIT I T G:
A) Restoring of cutting action of wheel A) TH & HIed DI fhaT B §8Td HAT
B) Shaping of the wheel B) Tsh Bl 3MBHR &l
C) Making wheel concentric with axis C) I BT 3 & Y Gfhfgs aamT
D) Changing the wheel D) I ST
> | Galvanized iron refers to iron coated with: ST @Gl ¥ e, e b1 — 9 QA g |
A) Tin B) Zinc A ?ﬁm‘q g) ?ﬁfﬁm
C) Chromium D) Germanium <) )
6 | The shape of rasp cut file is: GUERRAPTSMPR____ il
. A) Bopivitg B) 0T
A) Triangular B) Flat 0) 3ref Tt D) Tl
C) Half round D) Round
7. | A standard Hacksaw blade of 300 m length has 375 | 300 iR o8 - €41 &8 A 375 &id 214 &
teeth. What is the classification and type of set of | st T qrifenvur 3R YR T 27
blade? A) HeIH, W Jqc
A; ﬁeg?um, wave setd B) HEH, Tiafyg e
B) Medium, staggered set Iiafkq
C) Fine, staggered set [C))) % HiR @_f?:’
D) Fine, wave set '
8. | A fit designed as 30H7/g6 is a : T ftbe Sl fb 30H7/ g6 & =U | uRDlud fdbar
A) Clearance fit B) Transition fit gLPgadig |
C) Interference fit D) Tolerance fit A) T flhe B) oI fthe
C) 3B fthe D) Iy fthe
9. | Narrow and thin part of the file which is connected | TTga &1 Tab101 3R Udel fewT Sl 88 ¥ ST BIdTl
to the handle is known as: g, Pead g N
A) Tip B) Point A feg B) Wgc
C) Edge D) Tang QTS D) T
10. | One degree equals to: TS St - & RIS gl %I
A) 60 seconds B)60 minutes A) 60 THS B) 60 i
C) 100 seconds D) 100 minutes 0) 100 b g D) 100 fo e
11. | Two trains of equal length are running on parallel lines | TH TETS DI &l o gaE o= # 46 fopdt / Her
in the same direction at 46 km/ hr and 36 km/ hr. The | 3fR 36 e} / deT @t Tfd ¥ IHIR Y@ W I
faster train passes the slower train in 36 seconds. The | 3& & aw E'_'[ Bieil a—,—.[ B 36 B e H UR HI S
length of each train is: %I UJdH T F aars‘ gt
A) 72 m B) 80'm A) 72 Hex B) 80 Wex
C) 36m D) 30m Q) 36 iR D) 50 Hiex
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12. | What is the average of first 95 natural numbers? Ugalt 95 UIhfad TReAmall &1 Sid -1 gRT?
A) 50 B) 48 A) 50 B) 48
C) 49 D) 51 C) 49 D) 51

13. | An ore contains 25 % of an alloy that has 90 % | Th 3OIH H 25% Oy Tg % oraH 90% drgT %I
iron. Other than this, in the remaining 75% of the 3P (AT, Y 75% 3H H  @rgl 8l g1 60
ore, there is no iron. How many kilograms of the | foralum Y AGT U - & o€ fban fparm
ore are needed to obtain 60 kg of pure iron? 3D D ATl B2
A) 250.67 kg B) 270.6 kg A) 250.67 fB.T. B) 270.6 fob 7.

C) 266.6 kg D) 300 kg C) 266.6 f&. D) 300 f&.3.

14. | A towel when bleached was found to have lost | Ush diferal oid U&nferd fopan ST @ oY S9! ddls
20% of its length and 10 % of its breadth. The | &T20% 3R TS BT 10% &F 8 T 2| &FHBd &
percentage of decrease in the area is: HH BT fa=Td g
A) 28% B) 10 % A) 28% B) 10%

C) 20 % D) 22 % C) 20% D) 22%

15. | A man walked diagonally across a square ground. | T 3{lgH! Th & HeM H fAwulH 9 I =adn 2|
Approximately, what was the percentage saved by | fH-RI R A1 T@®HR TWTHT fha-T Ufa=a ae- 9
not walking along the edges? EEIK
A) 20% B)15% A) 20% B) 15%

C) 30 % D) 12 % C) 30% D) 12%

16. | If the length of diagonal of a square is 20 cm, then its e e ol & Aol @ dars 20 I €, A BT
perimeter is: ufarg a1 g 2
A) 141.4 cm B) 56.56 cm A) 141475 B) 56.56 T.HT.

C) 2828 cm D) 40 cm C) 28.28 9. D) 40 9.4,

7.1 First tap, second tap, third tap differ in their: we &, feefty 2o, it <o fare Bl &

. A) U8 THR A B)eUdS H
A) Thread size B) Tape lead O Y= d D) € THR &
C) Thread pitch D) Type of thread

18. | If the perimeter of a right-angled isosceles triangle is | Tfe JHBIU W@E’I’g’ ﬁﬁ\_ﬂ P ORIT (4v2+4) ESLil
(4\2+4) cm, then length of hypotenuse is? 2, Al DUl B! AdTS 1 I
A) 4 cm B) 5cm A) 49 B) 5 9.4,

C) 6 cm D) 2V2 cm C) 63 D) 2v2 ..

19. | In a drill bit angle between chisel edge and cutting | e f$@ A ¥ @1 4R 3R Hfe7 oy & &t fae
lip is known as : HI0T b T8 & ST STl 62
A) Lip angle B) Rake angle A) forg @ior B) Y& HIUT
C) Web angle D) Helix angle C) 9§ I D) gfcrad ®Iur

20. | For a power hacksaw blade, pitch means: TR ehl e O g pr o 3 g -

A) Number of teeth per 10 mm A) gidl &I I8 ufd 10 o
B) Number of teeth per 20 mm B) &idl ot AT Ufd 20 fart
C) Number of teeth per 10 cm 0 gial Y e ufy 10 S
D) Number of teeth per inch D) <id & TRe v 29

21. | Shaping of grinding wheel to make it run | OSU[ Tk Bl SBR ST dlich d 3&f & Y Alchlgd
concentric with axis is called: Id b, Heamdl o
A) Dressing B) Truing A) SRIT B) 37
C) Balancing D) Glazing C) STARIT D) %ﬁrﬂT

22. | What is the function of part “Pilot” provided in the TR ¥ UaH faT T YT "URiee” &1 S A BT
reamers?

A) Finish concentric holes A) Tidfaw fesal o1 ufsamor
B) Removing chips B) o g
C) Hold in tap wrench  D)Hold in machine spindle | C) ¢U3T &1 UTHHT D) TR ¢} DT U

23. | A left hand screw advances in which rotation: m@ ¥ e 7 S Wﬁ%: 5
A) Clockwise B)Anticlockwise é) gﬁ_ﬁ f??ﬂi 3 ? m ¥ ?ﬁ?ﬂ T
C)Any direction D) None of above ) )
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24. | A drift is used for : fgtre o1 v fob forg febarr STer & -
A) Drawing drill location A) f$a ®H 5913 & fog
B) Removing broken drill from work B) gl g% g & orf ¥ geM & for
C) Removing the drill from machine spindle C) TRiF &f 4t 9 g Y g & forw
D) Fixing chuck on machine spindle D) 5= ¢t W = pigrod & forg
25. | The process of beveling the end of hole is called: &% & 3id B UJUH B D! UlchdT 1 T BT Sl
A) Counter boring B) Reaming &
C) Spot facing D) Counter sinking A) gfd-ae= B) AfHT
C) Wi BRI D) Y-
26. | Cyaniding and Nitriding are two methods of : AZTRET 3R ARCRET A RF @ -
A) Hardening B) Case Hardening A) BTSHTT & B) $Y IS &
C) Tempering D) Normalizing C) TR & D) ARAATIST &
27. | The rolling contact bearing are known as: AT Bicde AR H FH A ... AT Y ST 1
A) Thick lubricated bearing gl
B) Plastic bearings A) AIeT gfsidrcs 9aia
C) Thin lubricated bearings B) WITRedh ST
D) Antifriction bearings C) Uddl gl s 9aRaT
D) UfefherR saRa
28. | Gun metal is an alloy of : ST e B9 UTg @ -
A) Copper, Tin and Zinc  B) Copper, lead and Zinc A) diaT, fe SR S B) i, T SR SR
C)Lead, Zinc, Nickel D) Tin, Zinc, Nickel C) T, S, free D) feq, S, fiTere
29. | Purpose of die nut is to : SIS ¢ B I3 A @
A) Cutting new thread A) 4T I8 BTeA
B) Improve surface finishing of thread B) IS ! HdE URTHRU H FUR
C) Chasing and conditioning damage thread C) &Rt 98 1 ST 3R AT
D) None of the above D) SWRIe | I P13 78!
30. | Thread plug gauges are used to check : U8 W IS T I T Sffei % forg fopan e &:
A) External thread B) Internal thread A) STE I8 B) SR U5
C) Shaft D) Hole C) =M D) Bl
31. | What is the tap size for an internal thread of M 12 1.75 % 1Y M12 & 3MAR I8 & folE U HTHR
with 1,752 RIS
A) 10 oL, B) 13.75 fa L.
A) 10 mm B) 13.75 mm C)1025&{Iﬁ D)12&{Iﬂ
C)10.25 mm D) 12 mm j i s
32. | A NO-GO plus gauge is used to check which of the | A — T @I 7IST BT SUTANT HHATCIRId | I foheqap!
following? i & forg fosan S &2
A) Lower limit of hole  B)Upper limit of hole A) f5g &1 et B) fevs b1 Ut Tt
C) Tolerance D) Deviation C) TRWLd D) fage=
33. | The cutting fluid used while cutting aluminium is: | TeGHITH HIcd GHY IGTRT fobdT ST ITT I
A) Air jet B) Ethanol S T 8?
C)Kerosene D) Water A) TR S B) EREI]
O St @ aa D) U=
34. | The vernier scale of calliper has 50 divisions which | HfWR % IR Wha | 50 fSAISH € off 49 T=H
coincide with 49 main scale divisions. If each main | Wrd fSdivHl & Ty Ad WA €1 I UdS A
scale division is of 0.5 mm, then the least count of | Tba fefawiT 0.5 ford} &7 % @ afR &t gew g
the vernier is: et s gt
A)0.1 mm B) I mm A) 0.1 fare. B) 1 .
C) 0.0l mm D) 10 mm 0) 0.01 fay . D) 10 fA..
35. | Which of the following is an example of indirect fafRad B ¥ & 1 el S0 AT & SUSR0T
angle measuring tool: CARGIRRIA R
A)Bevel protractor  B) Bevel gauge A) 339 TedeR B) 9dd 75l
C) Combination set D) Marking table C) GO Ue D) i dTferesT
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36. | Which of the following parts in file is not hardened | wga H FEfIRId # ¥ & AT UFT HoR 3R S
and tempered? eI BIe?
A)Heel B) Edge A B B) Tal
C) Body D) Tang C) digt D) T

37. | The range of surface finish value R, Roughness | g URSHId A R, &1 IS T N6 B1 ol
Grade Number N6 is : Bt
A)25 um B) 8 um A) 25 9. B) 8 ..
C) 0.8 pm D) 0.1 pm C) 0.8 HH:. D) 0.1 &4,

38. | An oily floor should be cleaned by which of the TS el BRI &1 e ePpi A Faferiad 7 9
following for safety point of view? fohear gRT 91w fohan S Anfgee
A)Cotton waste A) HUN SR I
B) Putting water B) UH! STelhr
C)Putting saw dust or sand C) R1&T T Yd STADHR
D)Spraying carbon dioxide D) FTe SIS HRITSS FT fFSHd B

39. | Tool chatter is caused by which reason? A Y SIS @ [hdd HRUIBI §?
A)Small clearance angle A) BT TRy S
B) Excessive clearance angle B) Sf¥eh faerad hium
C) Small rake angle C) BT XD B0
D)Excessive rake angle D) 3fIH 3P PI0l

40. | What is the angle of prick punch used for witness | T1eft fag & fore vged e v 1o = 2
mark? A) 90 f&Uit B) 60 TSt
A)90 degree B) 60 degree ) 30 f&oht D) 20 f&t
C) 30 degree D) 20 degree

41. | An observer 1.6 m tall is 20V3 away from a tower. | 1.6 HleX dd Tide/s Ht elaR J a3 20v3 HEI
If angle of elevation from his eye to the top of | ITH! 3@V elaR P WY W IAY 10T 30° g1
tower is 30°. The heights of the tower is: TR Pt SIS &
A)21.6m B)23.2m A) 21.6 Hiex B) 23.2 Hiex
C)24.72m D) 20.3 m Q) 24.72 Hi® D) 20.3 Hiex

42. | If a tiger is 50 of its own leaps behind a deer. The | Tfc T R0 & Ules U STd 3O GG BT 50 DA
tiger takes 5 leaps per minutes to deer’s 4. If the | g3 W g1 919 ufd e 5 sa ddr § SR fRur
tiger and deer cover 8 m and 5 m per leap | Ufd fiFe 4, afe 919 3R fERUr HHwr: 8 Hex 3R 5
respectively, what distance will the tiger have to | Htex Ufd ST gft 0 #d g, ol feRUr ) U A
run before it catches the deer? UGl 979 ] fobcil guI o il gHiT?
A)600 m B) 800 m A) 600 Hiex B) 800 Hicx
C) 700 m D) 1000 m C) 700 Hiex D) 1000 HIcX

43. | The angle of elevation of the top of the tower standing ﬁ’cg AT &fos dd R WS TIaR & IAY DIV o gl
on horizontal plane from point A is a. After walking a | gfgqy &% TR B 3R a3l ‘d I & d1G, STl D107 B
distance ‘d’ towards the foot of the tower, the angle of | gy ey TR B SIS &
inclination found to be . The height of the tower is: A) d/ (Cot a + Cot B) B) d/ (Cot « - Cot p)
A) df (Cota + Cotf)  B) d/ (Cota - Cot f) Od/ (tan a - Cot p) D) d/ (tan a + Cot B)
Q)d/ (tan a - Cot B) D) d/ (tan a + Cot B)

44. | The included angle between flanks of metric thread is: | Hifd® IS & TP & 19 ST B0 JHIRd 2
A)45° B) 60" A) 45° B) 60"
C) 90° D) 85" C) 90° D) 85°

45. | From the top of a hill 100 m high, the angles of | 100 Hlex It RISl & Y T, TH WH & FW
depression of top and bottom of a pole are 30° and | 3R 19 F 3faHTE F HIT HH: 30° 3R 60° §
60° respectively. What is the height of the pole? T B FaTs fba 82
A)50 m B) 52 m A) 50 Hiex B) 52 Hiex
C) 66.67 m D) 33.33m C) 66.67 Hiex D) 33.33 HI}

46. | Which of the following is not a tool? fafafed & § o te Iusu T8 77
A)Curved file B) Hand file A) T35S HBIgd B) 3 HI3d
C) Flat file D) Box file C) i WIsd D) Sid WIgd
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47. | The size of an engineer’s vice is specified | SONAR A2 FT HR fhads IR Y grar
according to which of the following? %’:
A)Length of the movable jaw A) TTf=Ad ST & daTg
B) Width of jaws B) SNl &1 ASTS
C)Height of vice C) I3 B $aTs
D)Maximum opening of jaw D) ST &1 TIHTH G

48. | Which of the following device is used to pull | FRfIREd & T S T IUHRU oHH & SR HRY
heavy loads along the ground? R Wi & forg IuanT fsan SIran 82
A)Cranes and sling B)Winches A) BT 3R & B) fd=r
C)Layers and rollers D) All of these C) T 3R et D) T gt

49. | Which of the following cannot be used for taper | T0R e+ & fore Fafafed & ¥ fFae Iugi 7=t
turning? forar S gpar 87
A)Compound rest method A) HIES XX fafdy
B)Form tool B) Bid [l
C) Tail stock offset method C) ¢d Xl 3Hithyc fafey
D)None of these D) 599 9 PIs gl

50. | If tan” o= 1-¢°, then the value of sec a + tan’ a. i tan’a = 1-€ dl sec a + tan’ a. Cosec o &I
Cosec a s : T 1 gI?
A)(2-¢e)'"” B) (2+e)'"? A) (2- €)' B) (2+¢?)"?
C) (2+e?)’ D) (2- )™ O 2+’ D) (2- €

51. | Typical locating device used as jigs and fixtures for | RifcieRed Siig & forg voFy SR fhaer & &0 &
cylindrical job is : mnmaﬁwﬁmﬁﬁn%a@w %?
A)Drill jigs B) Mandrels A) fea foma B) AUgT
C) V-Block D) Angle plate ) fa-=iiep D) WTd Wie

52. | Three measuring jars have the capabilities of 15 | i< HT9= 9Td SR & &HaT 15 iR, 50 el 3R 30
ml, 50 ml and 30 ml. what is the least capacity | fifeft B IAdH &HdT R g o fueft off fad Mo
which can be perfectly measured by any of the | A0 dTdl TR §RT U oRE U AIUT &1 Tbail ®?
measuring jars? A) 100 B) 75
A)100 B) 75 Q) 150 D) 450
C) 150 D) 450

53. | A hall is 15 m long and 12 m broad. If the sum of | T BId 15 Hiex sl 3R 12 IﬂETEﬁgT%I gfe wef
areas of the floor and ceiling is equal to the sum of | 3R ®d & &FHd ] T IR SIAR| b EFThd &
areas of four walls, the volume of the hall is in m® is: | I &% TR T A ETd DI MIaT m> & Rl :
A)720 B) 1200 A) 720 B) 1200
C) 900 D) 840 ©) 900 D) 840

54. | What is the weight of water contained in a conical | FHIHR RG] ﬁ'[%(-[ Ot ST Iol 7 EﬁTIT gfe
vessel which is 21 cm deep and 16 cm in diameter? T B TS 21 T IR T 16 9 H. © 2
A)1.246 kg B) 2.480 kg A) 1.246 5T B) 2.480 ..
C) 3.875kg D) 1.408 kg ) 3.875 f&am. D) 1.408 f 7.

55. | A spherical ball of lead, 3 cm in diameter is melted | ¥4 @I Th MABR 3 JH. I B g DI
and recast into three spherical ball. The diameter of | frE@®R & MA®GR g & yHAMHRT fFar S g1
two of these are 1.5 cm and 2 cm. what is the | 398 ¥ @l BT A 1.5 9H. 3R 2 A4t g1 A 7
diameter of third ball: BT U 87
A)2.5cm B) 3.6 cm A) 2.5 9t B) 3.6 U
C)1.2cm D) 0.9 cm Q) 1.2 I+ D) 0.0 I

56. | The dimensions of a cuboid are 7 cm, 11 cm, 13 U T & M 7 A, 11 I, 13 . g
cm. The total surface area is: S g T &AH TGN
A)311 cm? B) 622 cm’ A) 311 9.112 B) 622 9.1 2
C) 430 cm’ D) 1002 cm® ) 430 .42 D) 1002 ¥4} ?

57. | What is the SI unit of temperature ? AYHH i T 3ﬂ'§ EWI'SC Gl %?
A)Celsius B) Kelvin A) Sf’aa B) ohfea
C) Fahrenheit D) All of these C) BRAgISC D) T
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58. | High carbon steels are machined using tools having: | 3= &4 Wi WY IUHU &I IUANT IRb
A)Negative Rake angle Tefierd fopu S § ot
B) Small Positive rake angle A) Tfea Y& HT Y
C) Large Positive rake angle B) BT Ulfvifed ¥eb hIvl gl
D)Zero rake angle C) g1 uifsifed b 1o gt
D) [ X HIU &l
59. | If the cutting speed is 20 m/ min, what is the | Tfe Hred BT A 20 Wex / e g, @ 20 AH. fga
rotational speed required for a 20 mm drill bit? fac & forg smawgs ‘ELUﬁTrfﬁ 1 gt
A)120 rpm B) 320 rpm A) 120 3RUTH B) 320 3RUITH
C) 400 rpm D) 160 rpm C) 400 3RYTTH D) 160 3RUITH
60. | The point angle in general purpose drill bit is: I Yo fod fae # fig v gt e:
A)108 degree B) 90 degree A) 108 Ut B) 90 &t
C) 118 degree D) 60 degree o) 118 f&iht D) 60 f&Ut
61. | In a grinding wheel 51A 46 L 13 B, 13 & B | U a9UI b 51 T 46 TA 13 1 |, 13 3R off sHH:
represent respectively: FRUIGES
A) Dense type structure and resinoid Bond type A) T4 UBR BT T 3R IRgS ds UPR
B) Soft type structure and resinoid abrasive material B) RH UHR ! T 3R INFITS 3ot ugref
C) Soft type structure and resinoid Bond type C) TRH UBR b1 AT IR IS a9 THR
D)Dense type structure and vitrified Bond type D) T UHR B T 3R ﬁ?frtﬁrgg < UPR
62. | Morse standard taper is available in numbers from: | I A W oot TBM3Hf H IUTT &
A)lto7 B) 1 to 8 A1T7 B)138
C)0to7 D)0to8 Q0Y7 D)0 8
63. | Included angle between flanks of Acme thread is: | TR 38 & Tl & SId GIATRId PIvT &
A)60 degree B) 90 degree A) 60 ST B) 90 f&ult
C)45 degree D) 29 degree C) 45 f&h D) 29 f&It
64. | The dimension of a nut is expressed in terms of: TS ¢ 1 3 foo e o ooreet fopan oTer & -
NEIGE IR
A)Head of the bolt
B) Core diameter of bolt B) lice P PR T &
p A O diec & SHftifgd g I
)Nominal diameter of bolt D) e ¥ o g &
D)Pitch diameter of bolt
65. | The half included angle of Morse standard taper is: I AP CWR b1 e JHyferd bIor %‘:
A)3 degree 15° B) 3 degree A 3 fsh 15 B) 3 Tt
C) 3 degree 55° D) 1 degree 29’ Q) 3 fgt 55 D) 1 f&ilt 29
66. | Which statement is correct about GC 20 A 7 EP | STt 20 T 7 SU1 G007 b & SR | B 91 HU Tl
Grinding wheel? &
A)Abrasive material used is mixture of A and WA | A) XIS bl S dTelt 39y AN 7 fyor T
B) Grade is soft, Grit size is not fine and abrasive 3R 2
is green silicon carbide B) IS R ©, e 31eR 3t Tei g 3R g
C) Grade is soft, bond type is metal and abrasive is e Riferep M FIaiss ©
green carbide C) U TR 8, 918 UHR 4T § 3R uedas &
D)Grade is hard, Grit size is not fine and abrasive aﬂafg—s’ %
is black silicon carbide D) U B3R &, e 3R 3t 1 § iR Sruuss
rell el prsfgs ©
67. | Which of the following is used for holding pipe of | fFafefEd & T frgeT IuanT 63 . F 3iftiew R
diameter more than 63 mm and up to 200 mm? 200 T, T NI o UTSU &1 Udh e o fog foa
A)Pipe Wrench B) Pipe Vice ST 82
C) Chain Pipe Vice D) All of above A) TTsy g B) UTSU d139
C) 9 Uy argy D) SWRIad I+t
68.1 45 degree is equal to how many radian: 45 TS fore X0 & IR 87
A)0.785 B) 1.57 ’8 (6’225 g)) 11275
C) 6.28 D) 1.05 ) '
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69. | Lathe beds are made of cast iron due to following | @Y 98 F@fRId FRUT T H=aT AeT I I ST

reason : &
A)It is heavy A) J8 ﬂ-ﬂ'\ﬁ%
B)It is cheap B) U8 T §
C)High damping capacity C) 3 3faHc &HdT
D)1t does not resist compressive load D) I8 HURIa YR &1 farie 781 H=ar
70. | How many cubic feet in 12 cubic meter (approximately)? | 12 g9 Hiex H fbd ° Wi (TTHT) Bd o7
A)424 B) 464 A) 424 B) 464
C) 536 D) 572 C) 536 D) 572

Section B (Question no. 1 to 30)

1. | In an examination, out of 480 students 85% of the | T e H, 480 BT H H 85% TS HT 3R 70%
girls and 70% of the boys passed. How many boys | @& 30l g1 afe Uten & $a 75 ufara utemff
appeared in the examination if the total pass | Jitul Ul b Tsoh TRIe & IUfyd gu?

percentage was 75%? A) 370 B) 340
A)370 B) 340 Q) 320 D) 360
C) 320 D) 360

2. | By selling a hard disk for Rs 475, a person loses | 475 300 ¥ I8 3% dda, Uh Afad HI 5% Bl
5%. To get a gain of 5 %, he should sell the hard | b B %‘I 5% BT dH UM & fog, 3 61@

disk for: Efg mﬁ CERifClirs .
A)Rs 500 B) Rs 525
cg R 535 D)) Rs 575 Q)535% A D)575% A

3. | The average age of all the students of a class is 16 | T% &M BHET P Ad 3G 16 dY ¢ ASHI DI
years. The average age of boys is 21 years and that | 3fgd 3 21 ¥ g 3R Tsfeal @t 12 ad %I gfe
of girls is 12 years. If the number of girls in a class | & # Tsfhal B TV 10 , dl ASH] BT BT

is 10, find the number of boys. d WI
A)12 B) 8 A) 12 B) 8
O) 11 D) 4 Q) 11 D)4

4. | A Women introduces a person as the son of the brother | Tep AfZAT Th AT BT T AT H HIS PHT ST
of her mother. How is the man related to the women? gdIdt 21 Afge T afdd &1 dey =T 87

A)Son B) Husband A) T B) Ufd
C)Cousin D) None of these C) TRR/AHRI/ARR/FHRT D) 399 Y HIs At
5. | Which of the followings is not covered under fafeiRad & 9 m TR 34 iR o afthfed
operation Greens mission? Tet fopar T 87
A)Onion B) Potato A) TN B) 3T
C)Tomato D) Ginger C) THICR D) 3fcih
6. | Which of the following is a wildlife sanctuary in | Faffed # @ @9 7 Uy § Ue ggoid
Madhya Pradesh? 3UTRUY §?
A)Keoni Wildlife Sanctuary A) B3 TSl IR
B)Barnawapara Wildlife Sanctuary B) SRAATYRT T=Iuild HIRTY
C)Bhimbandh Wildlife Sanctuary C) ey goia IHIRTY
D)Rajgiri Wildlife Sanctuary D) ISR g=Isid S{HIRUY
7. | Covaxin is developed by: Dl fads gRT fasRid o1 it 82
A)Bharat Biotech B) Cipla A) HRd SRITCH B) Ryt
C)Ranbaxy D) Novartis Q) R D) AlarfcH
8. | World Health Day is observed on: Yy Ty ey &e T=m STaT §;
A)7™ April B) 8™ April A) 7 30 B) 8 30
C)9™ April D) 10" April Q) 9 3l D) 10 3@
9. | Punjab and Haryana High Court declared which ToTTe 3R R 3= <ararerd A forg Adt o
river as a living entity? Shfad WTE&: niva foar %?
A)Sukhna B)Amrit Sarovar A) g B) 3{Hd TRIGR
C)Kanjli D) Karna C) dorlt D) U
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10. | “Operation Namaste” is associated with: "R TH" ford ¥ afRid 87
A)Indian Army A) HRATT I1
B)Indian Navy B) HRAH AT
C)Indian Air Force C) YR arg T
D)Border Security Force D) T Y& §d
11. | Which crop is sown on the largest area in India? YR & T8 93 &7 R S Ul HUd a1 o 82
A)Rice B) Wheat A) dTdd B) ﬁ"g’
C)Sugarcane D) Maize C) T
12. | For which of the following disciplines is Nobel F9d [IBR ﬁ'ﬁﬁl‘@ﬁﬁ @[ fop fawa & forg fean
Prize awarded? ST 67
A)Physics and Chemistry A) HifdeT iR =
B)Physiology or Medicine B) fofomatarett o fafdrea
C)Literature, Peace and Economics C) UTfed, Mifd 3R 3rfzma
D)ALl of the above D) SWRIad aHt
13. | Whose creations are Harshcharita and KadamBari? Eﬁﬂﬁﬁ 3R B [t EFiTﬁ %‘ ?
A)Kalhan B) Panini A) Tl B) IOt
C) Bana Bhatta D) Patanjali QI HE D) UdSifel
14. | When the India launched Targeted Public YRd %raf‘&la oI~ fAaRur YUl &d & B 2
Distribution System? A) 1995 B) 1996
A)1995 B) 1996 C) 1997 D) 1998
C) 1997 D) 1998
15. | Panini was...... gifor o ...
A)a Greek philosopher A) T TAH! RIS
B)an Indian astronomer and famous B) Ueh MY WA 3R Ui T
mathematician C) dfed HTA HT TH TG d ATHIU
C)a Sanskrit grammarian of Vedic times D) UK &Td & HEH Hid
D)great poet of ancient times.
16. | Which of the following is not a member of the FofRa ¥ I oF qﬁnﬁu Ha ] T Tl &7
European Union? A) U1
A)Greece B) Finland ) At D) gscs ey
C)Norway D) United Kingdom
17. | Which river is also called Ganga of South? o At & gféror & 7 ot FHgT ST 82
A)Godavari B) Krishna INRICACE B) PTIT |
C)Cauvery D) None of these Q) Bradl D) $7H Y BIS el
18. | Which of the following newspapers was founded | FGfeiRId # ¥ {9 THRIR U3 & RIGT AT
by Mahatma Gandhi in South Africa in 1903?? et A 1903 H Gf&rr srpichT | Bt ot 2
A)Indian Opinion B) Harijan A) sfea= sifufag B) gRwH
C)Indian Speaker D) India News C) ST Wiax D) 3f$a1 <=
19. | Which space agency sends 104 satellites in a single | 2017 # &9 3idfRef Toidt 7 Thd BRE H 104
mission in 2017? JUUE ol ?
A)ISRO B) NASA A) SR B) =TT
C)Russian Agency D) China space Agency | C) T Toig D) At Sfafef Toid!
20. | Who among the following received the Bharat Ratna | fRufeiiRad Ty fPaT URd & Tl'gtlﬁ CECk:l UE?[
award before becoming the President of India? YRd Id TRBR YT foar 2
A)R. Venkataraman B) Dr. Rajendra Prasad A) 3R, Ip T B) ST. Ivig UG
C)Dr. Zakir Hussian D) W. Giri C) ST TR g8 D) 3&g, it
21. | Khasi is the main language of which state? T forg XIS B TRTRE HTHT €2
A)Mizoram B) Nagaland A) fieiRe B) BUIGE]
C) Meghalaya D) Tripura C) HuTd
22. | Mount Etna is a famous volcano which is located in? HI3C U Uh TR E‘IFI‘IE@ % S fRg %
A)Argentina B) Italy A) ST H B) 3call H
C) Mexico D) Philippines C) Afypt # D) ftpeiidig A
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23. | Which is the largest coffee producing state of URA P Yo 981 D] IATGH Aod DI AT 82
India? A) IR B) AHeTg
A)Kerala B) Tamil Nadu C) FHlc®H D) UM Wax
C)Karnataka D) Arunachal Pradesh

24. | Where is the Tungabhadra sanctuary located? JITHET SHIRUY HET (U ¢ ?
A)Madhya Pradesh B) Uttar Pradesh A) 98] UexT B) IR Ul
C)Karnataka D) West Bengal C) Fle® D) UigH s

25. | Ram starts from his house and walks 4 km North, | I 304 &R ¥ Y& gIdx 4 fbdt I H, R 3

then 3 km West, then 8 km south. How many km

fopelt ufdm, R 8 et <féror fomm & =raar 21 3

away from his home was he? IR Y frat g E ?
A)6 km B) 7 km A) 6 foreft B) 7 fopeft
C)5 km D) 8 km Q) 5 ey D) 8 it
26. | Which number is wrong in the given series? 3 718 g H S It e Terd €2
1,9, 25, 50, 81 1,9, 25, 50, 81
A)l A1
B)25 B) 25
)50 Q) 50
D)81 D) 81
27. | Pick out the number with the smallest value: Fafiied o 3 9a B S g -
A)007 A) 007
B)0.80 B) 0.80
C)0.33 () 033
D)002 D) 002
28. | If South-East becomes North, North-East becomes | 3R Sfa0-[Re IR & Il € 3R IWR-TXd UfEH
West and so on. What will West become? RESIGI %I ar ufsy o g 2
A)North-East A) STIR-RT
B)North-West B) STR-UI3H
C)South-East C) Slém-Re
D)South-West D) Glamr-uligm
29. | “Sputnik V”isa: "D V" ] %?
A)Coronavirus Vaccine A) BRIFTIRRY o
B) Geostationary Satellite B) SRRt Yearge
C) Geosynchronous Satellite ¢) fornfRisw e Searze
D)Hantavirus Vaccine D) SRRy dRI=
30. | Who is known as “The Saint of Gutters”? "TTe} & Ad" & =0 | fH¥ ST STl 62
A)Baba Amte A) ST TS
B)Mother Teresa B) HaR ¢l
C) Anna Hazare C) 313l BOIR
D)None of these D) 378 § PIs el
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Section A Section B
Question |Correct |Question [Correct |Question |Correct
No. Answer ([No. Answer |[No. Answer

1 C 36 D 1 C
2 A 37 C 2 B
3 C 38 C 3 B
4 A 39 B 4 C
5 B 40 B 5 D
6 C 41 A 6 A
7 D 42 B 7 A
8 A 43 B 8 A
9 D 44 C 9 A
10 B 45 C 10 A
11 D 46 D 11 A
12 B 47 B 12 D
13 C 48 B 13 C
14 A 49 D 14 C
15 C 50 D 15 C
16 B 51 C 16 C
17 B 52 C 17 C
18 A 53 B 18 A
19 C 54 D 19 A
20 D 55 A 20 C
21 B 56 B 21 C
22 A 57 D 22 B
23 B 58 A 23 C
24 C 59 B 24 (o
25 D 60 C 25 C
26 B 61 A 26 C
27 D 62 C 27 C
28 A 63 D 28 C
29 C 64 C 29 A
30 B 65 D 30 B
31 C 66 B
32 B 67 C
33 C 68 A
34 C 69 C
35 B 70 A
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